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= 1 38,910, 397
AR L
= 1 36, 740, 249
KT 5 4R E T
AEE)
= 1 3, 447, 920
KT Gy R FETEL Y ¢ 70X 250
T 4 824, 956 3,299, 824
HIIFL HIFLAE 35mm HIFLIEE 385mm
L 32 1,615 51, 680
7= OKE-F14548) SD345 D25 X 455
VN 32 3,013 96, 416
KT 53 4R E 1
(PLAGIAD G 5400))
= 1 9, 236, 835
KT Gy R 800KNT! 7% 8)) #:0mm
T 5 683, 942 3,419, 710
FE8L7 759 b
T 5 898, 081 4, 490, 405
HIIFL HIFLAE 61mm HIFLIE S 775mm
L 60 7,319 439, 140
7= OKE-F14548) SD345 D51 X900
VN 40 14, 487 579, 480
7= OKEF14548) SD345 D51 X 1000
VN 20 15, 405 308, 100
KT 53 4R E 1
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T 5 874, 564 4, 372, 820
HIIFL HIFLEE 61mm HIFLIE S 775mm
L 60 7,319 439, 140
7= OKE-F14548) SD345 D51 X 895
VN 40 14, 487 579, 480
7= OKE-F14548) SD345 D51 X995
VN 20 15, 314 306, 280
VI Sl
(A21BH)
= 1 6, 201, 536
KT Gy R FETEL Y ¢ 90X 290
T 5 1,110, 659 5,553, 295
HIIFL HIFLEE 45mm HIFLIE S 535mm
L 40 2, 056 82, 240
7= OKE-F14548) SD345 D35 X 620
A 40 5,703 228, 120
AT 7 AR
AT 3 112, 627 337, 881
PERGD 12 T
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= 1 7,202, 288
TERG B 1 2 PCh—=7" I F60TD
T 8 900, 286 7,202, 288
A JEE P L
= 1 1,123, 140
Fot vy
m2 24 6, 290 150, 960
HIIFL HIFLAE 29mm HIFLIE S 295mm
L 272 605. 9 164, 804
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VE2 i LEGIUN SD345 D19 =F ¥VAS
ZN 272 1, 627 442, 544
20—} 24-12-25(20) (k)
m3 2 39, 787 79, 574
Tl
= 1 262, 360
AR SD345 D13
t 0.11 208, 168 22, 898
= 1 102, 274
TR
(F-11)
= 1 102, 274
N Wha=b 2R v EE (UE)
BWAEEH 1]
m2 10 4, 449 44, 490
N BRI R X BIR L 2laER Y /
&) WAEEH 1]
m2 10 4,032 40, 320
TR Lo BHIREREL X BRI 1
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m2 10 684. 4 6, 844
% Lo BHIEEREL X BRI 1
=]
m2 10 1,062 10, 620
G an
= 1 2,067, 874
g3 L
= 1 1,198, 235
B L
= 1 320, 740
RmE T
= 1 548, 899
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B TR
= 1 38,910, 397
I L
= 1 6, 281, 610
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= 1 379, 222
et By
= 1 54,017
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= 1 54,017
BIGmEsET (K30
= 1 325, 205
HIBGERE (FE L)
= 1 5,902, 388
Wi
= 1 45,192, 007
B
= 1 18, 994, 208
TG
= 1 64, 186, 215
— R
= 1 11, 483, 785
TS
= 1 75, 670, 000
THEBLFH Y %H
= 1 7,567, 000
TH#&G
= 1 83, 237, 000
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